PFiloha €. 1 k obecné zdvazné vyhlasce €. d\/ 2030

. 27 k.0. Nebanice
.33/2 k.4. Nebanice

. 34/6 k.4. Nebanice

. 38/4 k.0. Nebanice

. 38/8 k.u. Nebanice
40 k.0. Nebanice

. 113 k.0, Nebanice
.172/4 k.4. Nebanice
. 240/2 k.0, Nebanice
241/2 k.U. Nebanice
242/6 k.4. Nebanice
. 242/7 k.0. Nebanice
. 242/8 k.(4. Nebanice
.242/11 k.0, Nebanice
310 k.u. Nebanice
114 k.4, Nebanice
134 k.. Nebanice
136 k.0. Nebanice

. 166/2 k.U. Nebanice
. 166/3 k.U. Nebanice

. 166/43 k.4. Nebanice
. 166/50 k.U. Nebanice
. 166/54 k.. Nebanice
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PFiloha &. 2 k obecné zévazné vyhlagce &. ;1/59263420

® p.C. 16 k.U. Nebanice

= p.C. 18 k.U. Nebanice

= p.¢. 62 k.0. Nebanice

= p.& 63 k.U. Nebanice

= p.c. 147/2 k.0. Nebanice
= p.¢. 171/3 k.. Nebanice
* p.c 211/3 k.U, Nebanice
= p.c 222 k.0. Nebanice

= p.C. 232 k.U. Nebanice

= p.c. 233 k.4. Nebanice

= p.¢. 234 k.U. Nebanice

= p.C. 260 k.U. Nebanice



